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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

25+34+35=

27 +90+44 =

87 +23+37=

80+68+44=

31+62+67=

10+79+58=

24+43+15=

64+98+ 79 =

57+ 70+46=

24+ 54+ 91 =

B +34+61=

80 + 60+ 96 =

91+42+27=

98+95+42=

Answers

10.

11

12.

13.

14.
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ﬂh Three Addends (2 Digit) Name.Answer Key

Solve each of the problems. Answers
1) 25+34+35= 94 o
1.
2 27+90+44= 161 2 161
3. 147
3) 87+23+37= 147
4 192
4 80+68+44= 192 5 160
6. 147
5 31+62+67= 160
7 82
6) 10+79+58= 147 . 241
173
7) 24+43+15= 82 S
10, 169
8) 64+98+79= 241 y 190
9 57+70+46= 173 12, 236
13. 160
10) 24+54+91= 169
14, 195
11) 95+34+61= 190
12) 80+60+96= 236
13) 91+42+27= 160
14) 58+ 95+42= 195
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Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

94
173

160 82
147 192

169
161

147
241 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

25+34+35=

27 +90 + 44 =

87+23+37=

80 + 68 + 44 =

31+62+67=

10+ 79+58=

24+43+15=

64 +98+ 79 =

5/+70+46=

24+54+91 =

10.
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